PG 10F3

POLYWOOD

Intetligent Design™

Model: NS48
Layout Parts Tools Needed
1) Seat : |
(1) Back - |
(2) Sideframes 4mm T Handle Hex Key - included
Screwdriver
oty LayoutHardware

1/4-20 X 2-1/4 WAFER SHCS

4| o

@ 5/16-18 X 4-1/4 EYE BOLT SS
2

|

5/16-18 X 5 EYE BOLT SS

4 @ 5/16 X 3/4 OD FLAT WASHER

2 5/16 PLASTIC PINS

<\
4

5/16-18 HEX NUT SS

Vra
\

307 X 2-1/2 X 3/4 S-HOOK ZN

4 @ SNAP HOOK 1/4"

4 SFT ZINC CHAIN

ASSEMBLY INSTRUGTIONS HARDWARE IS STAINLESS STEEL 1232012







@)

Hang the swing

Tip: hanging mounts should be about 55" apart

‘ Snap hooks
o

Note: once comfort is set, S-hook

can be closed with tool

Adjust this chain for comfort
S-hook

Adjust this chain for height

(9ft porch max)

pg 3 of 3

Tip: Seat should measure about 18" from floor






